Lesson L - Gire aph»m Eqy vahons

Using a Table a\ueﬁ Name:

Why Was the Baby Cookie Sad?

Each row across has five boxes. Only three of them contain solutions of the
equation at the beginning of that row. CIRCLE these three solutions. Notice the
number-letter pair above each solution you have circled. Write the letter in the

box at the bottom of the page that contains the matching number.

12-S 19-B 5-0 22-L 15-A

(2,1) (3, —4) (4, —5) (0, 5) (=1, 10)

x+y=7

24-F 9-R 17-K 19-S

(0, 4) (-3, -2) | (—1,5) (3,10)

2-|

| —-2x+y=4

8-E

24-G 6-M

5x — 2y =1 (3,7) (=1, -3)| (2, —5) (1, 2) (—2, 4)

OBJECTIVE 5-b: To determine whether a given ordered
pair is a solution of an equation in two variables. © 1989 Creative Publications 145
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OBJECTIVE 5—e: To find ordered pairs that satisfy a linear equation
and use them to graph the equation (equations are not solved for y)
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c: To find ordered pairs that satisfy a linear equation and
use them to graph the equation (equations are solved for y

OBJECTIVE 5-
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